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{& A Z Individual Contest Problems

fZRE# Al Rules for writing out the solutions

TRPpE EEREERTEEESL. ATEABNERNRZAMLAERE, X
BfEIEREthEF LIS

Do not copy the statements of the problems. Write down your solution on answer
sheets. For some problems that need explanation, your answers must be
well-argumented. Even a perfectly correct answer will be given a low score unless
accompanied by an explanation.

—3# Problem #1 (20pt) WEFIRERHEFE Squliq Atayal

1~8B/\EEZEFRRMECANF FETAHAZEARBEHENE. (B 25%)
1~8 are eight Squliq Atayal sentences, please fill in the table below to match their
correct translations. (2.5 pt each)
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B ABNE_ABLRE

5 ERNAHELIREE = AMEAHE -
B-ABNE_ABERNBREELHIRE - Z5E (patient)l HIRTEEFERI(agent) °

BEABEHEBABADHIRESE — ABBSZEA
N E/EH E& B
B saku’ maku’
B & (sami) myan
_ 2| su’ su’
B 18 simu (mamu)
. g - nya’
- & - nha’
FEIRARF » BREEFRLIR -
a7 A o 07 e B AR ERIEC Y
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SofiaCYC
評分細節說明：給分方式如題目本上的配分。


% " %8 Problem #2 (20pt) BEHIEE Gwandara

Answers:

1. (6pt) L TZEEHEXF, FEAEHKarshiAE B/, 542 8|HNimbia
FERK. AN AHFREUT=AFH :
In the following three equalities, the left side of the equal sign is written in
the Karshi dialect while the right side is written in the Nimbia dialect. Write the
following three equalities in Arabic numerals:

(1)  gom sha takushi + gom sha biyari = gume bi ni tanran
18 + 15 =33

(2)  ashirini n huru + deri bi = gume shide ni tager
24 + 200 = 224

(3) tara + bakwe + ashirini n uku = tuni mbe tanran + gume bi ni furu
19 + 7+ 23 =21+ 28

2. (4pt) AMTHLBEHF B H LU T#KarshiA E8F

Write the following Karshi dialect numbers in Arabic numerals:

(1) takushi --- 8
(2)  ashirini n bakwe --- 277

3. (1opt) ANimbias & TR/~ H LA T HIBFIHI{AEF -
Write the following Arabic numerals in Nimbia dialect:
(1) 20 --- tuni mbe tager
(2) 100 --- gume tager ni furu
(3) 110 --- gume tanran ni bi
(4) 153 --- wO ni tanran
(5) 999 --- wo shide ni gume kwada ni ugu
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Rules:

Nimbia A EWEFRMFER+ AL H], KarshiFEHRA+HHEARLHI,

The number system of Nimbia dialect is duodecimal, while Karshi is decimal.

Nimbia:

e da—1,bi—2,ugu — 3, furu — 4, biyar — 5, shide — 6, bo’o — 7, tager — 8,

tanran — 9, gwom — 10, kwada — 11, tuni — 12, wo — 144 (122)
tunimbea=12+a (1<a<11)

gumef=12xPB (1<Pf<11),gumefPniy=12xP+y (1<sy<11)
wonid=144+6 (1<8<143)

Karshi:

e da—1,bi — 2, uku — 3, huru — 4, biyari — 5, shida — 6, bakwe — 7,
takushi — 8, tara — 9, gom — 10, deri — 100 (10?)
gomshae=10+¢ (1<e<9)
ashirinin{=20+¢ (1<{<9)
deri bi = 100 x 2 = 200
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SofiaCYC
評分細節說明：

第一大題 
  第一、二小題答對一個數字得0.67分，答對兩個數字得 1.34 分，三個數字都答對得2分。
  第三小題每個數字0.4分，全對得 2 分。

第二大題
  每對一小題得2分。

第三大題
  每一小題兩分。若符合該語言語法規則，每錯一個單字扣 1 分，扣至該小題零分為止。


S5 =®E Problem #3 (20pt) NNZRFEECERE Catalan

SHAZEB (PR EEFE—FE)

Fill in the blanks (Choose either Chinese or English for your answers):

INZRMEERERE

Catalan

catalana
companya
informatica
bedui

llop
beduina
germa
amic
detectiva
plana
noruega
feli
govern
pla
amaranti

segon

IR(F.) wolf(f.)

llopa 'Ko.pa / lloba "Ko.pa

IPA

ka.ta.'la.na
kum. pa.po
in.fur. 'ma.ti.ko
ba.0u.'i
‘Kop

ba.du. '1.no
dzor.'ma

9. mik
do.tok. 'ti.po
‘pla.no

nu. (we.yo
fa.'li

gu. Bern
‘pla
9.ma.ran. 'ti

$9.'yon

$h X

B EEEUN(S)
BE(f)
EAE
BEEA(m.)
JR(m.)
BEEA(F)
5L

A% (m.)
"R (f.)
F89(f.)
LA (F.)
&3Ha9(m.)
245
F(m.)
BE¥E(m.)

E_"(m.)

D > T/ _# (D: voiced; T: voiceless)

English

Catalonian(f.)
companion(f.)
informatics
Beduoin(m.)
wolf(m.)
Bedouin(m.)
brother
friend(m.)
detective(f.)
flat(f.)
Norwegian(f.)
feline(m.)
government
flat(m.)
amaranth(m.)

second(m.)

TOL 2020 _solutions
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catala

Gender inflection

stem X

masculine: ¥; -v > -u [w], -n > @

feminine: Xa

Phonological processes

Process Underlying Surface Environment
Intervocalic lenition b,d, g B,0,Y V_V

Final devoicing b,d, g p,t, k #

Vowel reduction a, eo 9,9, U [-stressed]

V: vowel
#: word boundary

Orthography

ia

stressed and [(stress is not on penultimate syllable) or (stress is not on final closed syllable)]

i

monophthong and (i rule does not apply) and (preceded by another vowel)

Useless and irrelevant notes

* e-¢ 0-D distinction is present but ignored for the sake of solvability.
* Grave (aeo0) and acute (é6i1) accents correspond to vowel height.

» Final devoicing is not always manifest orthographically. This is not the case for the data set.
K3 is pronounced T—%" 4 %",
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AT AR -

TN Je nigh © 0.7 * 10/

RS I INAF SRR /R SR - -0.4

- THEE | FHAREHR 0.7 (BRTEEL - fEEl > mEE L > v>w
n>J4)

- HoAt 75/ BE Sk - -0.4

IPA : —HH0.953*10/

B OREE S KEF) IR 0.6
-FHE SR T 1 -0.3
-y REA S LR 2 O IR 40.3

BHRE /3 - —fH0.5 5/
e IERE 1 0.5

2 1.54)
-fRFE  0.84)
-SEASH /R 1 0
- KRG fERA - 0.2
- K EiEib/EL - 0.4
- RKERS IERE @ 0.6
SSEAIERE 2 0.8
K22 0.7
-IPA/JINZE R JE nnpEh ik -
g — IR E i /B 1 -0.1
-HARAEN « -0.2
B3R (INZRRE JeREREELIPA) : +0.1
R SRR (INZEFE JE mighEIPA) @ -0.2

(—/NEAMZERHIL)



S PH%E Problem #4 (20pt) R IEIPEE Tariana
1. ATk HH T I HERR R (BRE1.57)
Please match the Tariana words to the pictures (1.5pt each):
A. enukwa | B. hipada C. episida | D. nawikiyawa | E. siduana
X Answer [ F Picture
‘ | A\ |
C 'R S8 /
D
A
B
TOL 2020 _solutions 7
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2. FEFNEEL THIEAS : Please translate the following words:
(D~(3) BE1L57 ; (4)~(7) B&E257. (1)~(3) 1.5 pt each; (4)~(7) 2 pt each.

) 5=
PIHEE Derived meaning EEE:E;!B AH
Tariana
(1
—iREESE a hair itfakha
(2)
—IRE® a cigarette yemana
(3)
—EARRA an eye thida
(4)
— RS FEIR a fishing line kulekha
(5)
—{§EZBE  asweet potato vine awhikha
(6)
—AKH a well uniyawa
(7)

—{&/INER AL a calf (of leg) kawada
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E£7i(Classifier):

YIEaBYaE -
Appearance of the Object Classifier
[E#A4) (Round) -da
kYY) (Curved) -kha
B ILik# (Vertical) -na
E R Y (Leaf-like) -phe
SEAR (Holes) -yawa
FEARY) (Flat surface) -kwa

SR TERTER > ATARTHEER - ARAKRNEZARNF RS > MEBEFTAR
TIHREEMES

flan
awhi A RHWEBZEEMEMS - ™ awhida KRMNEHEZ T RRANRIRIEE D
kulefCZRM) > kuledaRICRMIEIBIRYER > —EN/)\BERL

113

o A A

BRI F A RIS WA -
BB R T -

T
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SofiaCYC
評分細節說明：

給分方式如題目本上的配分，沒有部分給分。
填充題明顯筆誤者不予扣分。


S AT Problem #5 (20pt) Mwotlap&&

HE T e FEEZER Mwotlapig :  (E462.57)
Translate the sentences into Mwotlap: (2.5 pts per sentence)
1. IUERIBIEE| T F A% kAU Z /The shell ginger’s branch cut my sister’s

water yam.

namné néyeh mehel nodolmele nagan tétek

2. HEIERNT T AEEMH{E/His father-in-law put down the wild nutmeg’s
branch.

gelgan mepteg namne dayag

3. fthEdi=F/KEE B T ftt/His mauve stinger helped him.

nasyew nonon memyin ké

4. ¥BE X 246EIEIME T H a7 %/ The white-spotted puffer’s side seized my
chiton.

nagagaye wotwot mewseg natlig nakis
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B KR EFHEMMEKRE Mapke~] ; [EIRMEEHEZERN] & nawtag
woqoll , BHEE :

Given “thigh” is “na-pké~” in its dictionary form, “The cowrie’s vutu kana” is “nawtag
woqol”, translate:

5. fihBEBE LR RIS R 2407 T 3 A TE M 88 B /His sister’s white-spotted puffer

ate my vutu kana.

nowotwot nonon tétan megen nawtag nakis

6. HEMBEMMBRIELEEIFHAMKEE/The vutu kana’s branch didn’t cut my
thigh.

namné watag ethel te napkek

7. HEERMETE REHL BT th A9 KER/His father-in-law’s fig tree didn’t seize
his thigh.

namlak nonon gélgan etweseg te napken

8. HMEXMEBIRE| T KA HEE /My father-in-law’s cowrie cut my body.

nowoqol nonon gelgek mehel natagmek

TOL 2020 _solutions
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fRRE
25 DARMABI—ARE -

—ARAE : nV+EEIAR > ATLAEIIFE - ERVERRE—EFERNEE » NallR:F
RE—EFEREFE - "R TA1 NBRARFENV- -

FTE1E « RARGIR » AABIFE - RELRE—RBRAEARSIEA—AME R
BE

BB pAR=E  Aup &Y (thFRA2RARA)  Hif
AHESD : headEHIE L

[=HZ EF—AE (389) F=AME (A) E=AME (GEA)
-e -ek -an -e
-é -ek -en -€

B~ Hfth : head MEE1E > fEheadi@ 5N

E—ATE E=ZAE (BRAZIEA)
e nakis nagan
Hith mino nonon

MRBEER—MBE > EE-ABRNEEMN L ZFNRERE -

FREMS I A HIER Y - fliinaqtég benek (FRHIBHE) P2 TEHAIFH—iH, -
837 -

BE : me+zIiR

BE : et+5I1R te
i/ - SVO

EEBt

BEEA 1 GGV > CiVaCaVa / [#, CL > BT MR (C)V(C)IS RIS
FEEE:b,d,v>m,n,p/_C


SofiaCYC
TOL 2020_solutions      12


R

£8:
e =X Hth
F - B&AIF bné RE™E dyag micR#t | blak
KRR vke Bis dlit K syew
A2 qaqgaye aE tlig L nyéh
=% tagme 2% dolmele IREX Bl | wotwot
R qelge TN | Wtag Hig waqol
Wbk téte

39 :
=g byifi
E36 dye
F vteg
JEE vlig
| hel
72 gen
ME wseg

AEor S AT -

Be— R 1 5 > HENE

TOL 2020_solutions
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SofiaCYC
評分細節說明：

寫錯一個詞扣 1 分，直到該小題扣完為止。


